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— ~ Donald derives utility from only two goods, carrots (Qc) and donuts (Qd). His
utility function is as follows:
U(Qc,Qd) = (Qc)(Qd)
The marginal utility that Donald receives from carrots (MUc) and donuts (MUd)
are given as follows:
MUc = Qd MUd =Qc
Donald has an income (I) of $120 and the price of carrots (Pc) and donuts (Pd) are
both $1.
a. What is Donald's budget line?
b. What quantities of Qc and Qd will maximize Donald's utility?
c. Holding Donald's income and Pd constant at $120 and $1 respectively, what is
Donald's demand curve for carrots?
d. Suppose that a tax of $1 per unit is levied on donuts. How will this alter
Donald's utility maximizing market basket of goods?
(B/INE S 73 > 4220 77)

—_ ~ Duane breeds parrots for a living. He has discovered that the production function
for parrot chicks (Q) is:
Q=KL
where K is capital (for example nest boxes, cages and the like) and L is parrot food.
The marginal products of capital and labor are as follows:
MPx = 0.5 K'2L"2 MP_= 0.5 K212
The price of K is $8 and the price of L is $2.
a. Does this production function exhibit constant, increasing or decreasing returns
to scale? Explain.
b. What is the average product of capital?
Does capital obey the “law of diminishing returns?” Explain.
d. Suppose that Duane wants 144 parrot chicks, how much K and L should be
employed to minimize costs, and what is the cost of producing 144 parrot chicks?
(B/INE 5 41 > 20 57)
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BuyRight is a chain of grocery stores operating in small cities throughout the
southwestern United States. BuyRight’s major competition comes from
another chain, Acme Food Stores. Both firms are currently contemplating their

advertising strategy for the region. The possible outcomes are illustrated by the
payoff matrix below.

Acme Foods
Increase Don’t
Advertising | Increase
Advertising
Increase 20,15 35,-5
Advertising
BuyRight | Don’t
Increase 2,30 25,25
Advertising

Entries in the payoff matrix are profits. BuyRight’s profit is before the comma,
Acme’s 1s after the comma.

a. Describe what is meant by a dominant strategy. Given the payoff matrix above,
does each firm have a dominant strategy?

b. Is there any pure strategy Nash equilibrium in this game?
Is there any mixed strategy Nash equilibrium in this game?
(B/INE S 53 > #£10 47)
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